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SECTION-A

ACV-13/TECHPRT/1T/01

i) General Awareness

As we go North to South, mountain
ranges are encountered in the following
order.

1. Satpura

2. Dhaula Dhar
3. Vindhya

4, Shivalik

(A) 1234

(C) 2431

(B) 2413
(D) 4213

‘Black Cotton Soil' is likely to be
encounterad in

(A) Himachal Pradesh
(B) Uttar Pradesh

(C) Kamataka

(D) Gujarat

Retrealing Monsoons produce profuse
rainfall in

(A) Konkan

(B) Saurashtra

(C) Coromandal
(D) Gangetic plains

The iron pillar near Qutb Minar in Delhi
was made by

(A) Ashoka

(B) Akbar

(C) Samudragupta

(D) Chandragupta Il

‘Poona Pact’ was between Gandhi and
(A) Ambedkar

(B) Jinnah

(C) Mountbatten

(D) Subhash Chandra Bose

2-

6.

10.

Which among Akbar's Navratna's was
involved in creating a land revenue
system ?

(A) Mansingh

(B) Abul Fazl

(C) Todarmal

(D) Abdul Rahim Khan-i-Khana

Colours seen in a soap bubbile are
due to

(A) Refraction

(B) Tolal internal reflection
(C) Absorption

(D) Interference

Which worm most commonly causes
anaemia in children 7

(A) Earth Worm
(B) Round Worm
(C) Tape Worm
(D) Hook Worm

Which oxides are mainly associated
with Photochemical Smog 7

(A) Sulfur oxides

(B) Carbon monoxide

(C) Nitrogen oxides

(D) Silicon oxides

Which organ is associated with
biological rhythm in mammals ?

(A) Pineal

(B) Pituitary
(C) Thyroid
(D) Thymus
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13.

14,

15.

Indirect taxes are considered
(A) Progressive

(B) Regressive

(C) Both

(D) Neither

Pradhan Mantri Mudra Yojana is
related to

(A) Banking

(B) Agriculture

(C) Poverty reduction
(D) Industries

In Microsoft Word, Ctrl + Z is acommand
for

(A) Opening new document
(B) Opening existing document
(C) Formatting a document

(D) Undo

Interest rates on saving accounts are
decided by

(A) Reserve Bank of India
(B) Union Cabinet

(C) Finance Ministry

(D) Individual Banks

Power of issuing a writ of Habeas
Corpus lies with

(A) Supreme Court

(B) High Courts

(C) District and Session Court
(D) Both (A) and (B)
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Maehiniattam is a dance form from the
State of

(A) Karnataka

(B) Kerala

(CG) Andhra Pradesh
(D) Tamil Nadu

A famous expeonent of Shehnai
(A) Amjad Ali Khan

(B) Bismillah Khan

(C) Allah Rakha Khan

(D) Javed Khan

On 17" September 2017, P. V. Sindhu
beat a player from which country to win
the BWF Korean open super series ?

(A) Japan
(B) China
(C) Korea
(D) UK

The Malabar naval exercise involve
India, USA and

(A) France
(B) UK

(C) Australia
(D) Japan

The term of Vice-President of India is
(A} 4 years
(B) 5years
(C) 6 years
(D) 2 years
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STTTE Tl )
(A) feEiie
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(B) Ff

(C) TSl e

(D) JEFT
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Hife-fletsn T FHTEE |
(A) FATH

(B) T

(C) 2T e

(RULEELS

STETS o O Wi wftores 2
(A) 3TSTE 3T T@H

(B) fdresme @

(C) ¥1eaTe W EH

(D) FTEEEH

17 Tod=r 2017 =1, 1. <. g3 BWF
FIiE 39H R €1 o = foe B
=91 <l T flaerrdl =1 s 2

(A) STaH

(B) ==

(C) =ifen

(D) g%

FAGR 4B FIE H HRd, JEHE AN
e © |

(A) B
(B) TF
(C) fieefern

(D) STH

YR o ST 1 T 2
(A) 494
(B) 594
(C) 6aM
(D) 234
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i) General Intelligence and Reasoning Ability

(21 -23) : Find the missing figure in the series.

21.

M Tz [|= T1|= %

<[>
©
&

® ® (© O

£

(24 and 25) : In each question, Figure 2 has a
certain relation to Figure 1. Select the option
for Figure 4 which has the same relation to
Figure 3 as Figure 2 has to Figure 1.

24, |: :© 2

(A) (B) (€ (D)

S|SB

A (B (© (D)
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i) T gl A wilhes AT
(21 -23) : FETH g Al Bifey |

M T

- i

(A)

(B)

€ (O

O

A (B)

(©)

(D)

-

(24 311 25) : U T H, AEHRT 2 1 AT 1
U I 9oy B | TR 4 % for 9w s i

Fro@ sl 3 & 9 gEu B S oTEh 2 W
AHEA1HE |
24, |: b :@ “?

1 2 3 4

G| G| |\

A B (© (D)
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26.

27,

28.

Which diagram best describes the
relationship between Human beings,
Daughters, Mothers ?

(A)

(B)

(C)

)

L
okalelis

Which word cannot be formed from the
letters of the word ADMINISTRATION,
using each letter only once ?

(A) SITUATION
(B) STRAIN
(C) TRADITION
(D) RATION

Which one is different from the rest ?
(A) Sweet — sour

(B) Pointed — blunt

(C) Slow — high

(D) Peak — valley

B

29.

30.

ACV-13/TECHPRT/1T/01

In a given number 7834329513, we
interchange the first and the second
digits, the third and the fourth digit and
so on, Then which digit will be sixth
from the right ?

(A) 3
(B) 2
(€) 9
(D) 4

if Ax B means A is the brother of B and
A + B means that A is the father of B
then which one means that ‘M is the
nephew of N' ?

(A) N+MxK
(B) NxK+M
(C) Mx K+ N
(D) None of the above

(31 and 32) : Read the passage below and
answer the guestions.

Five friends are standing in & row facing South.
Jayesh is to the immediate right of Ashok.
Pravir is between Bablu and Suresh. Suresh
is between Jayesh and Pravir.

a1.

32.

Who is at the extreme left end ?
(A) Ashok
(B) Pravir
(C) Bablu
(D) Suresh

Who is in the middle 7
(A) Bablu
(B) Suresh
(C) Pravir
(D) Jayesh
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26.

7

28.

-1 AR e, IR ST i &
19 Tay &1 Ted 3= 9@ Sy 7

(A)

tB}@O

(C)

¥4 ADMINISTRATION T T 3761
ol e U AL A A g R -8 I1ee
T ST S U1 ?

(A) SITUATION

(B) STRAIN

(C) TRADITION

(D) RATION

wH-aTEE A a2
(A) Hie1 - @z

(B) THT - %5

(C) T — F5=l

(D) = — =

20;

30.
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Ueh &1 713 HE41 783432951 3 T, B9 o 311
Teeftar =1 smom o, et o =g = stg
T o 36t weR W e oft ofefia
Fd E | U8 T T W DA 3 -G B 7
(A) 3
(B) 2
(C) 9
(D) 4

aft Ax B 3 R A BT 9E 2 3K
A+ B34 ? A, B Toar 2, ot fram
3l 2 ToR M, N =T wieften 2 7

(A) N+MxK
(BY NxK+M
(C) MxK+N

(D) I9er | & g 7

(31 37K 32) : 19 RuTTw srg=ds 1 wfew o ww
& I Eife |

ig T afor =1 iR e o T U H @e E |
ST 79 F ik w1 & | Fefl asrey 3 Hw
e H R |ﬁi‘maﬁmaﬂ1w%:ﬁa§%1

31.

32.

TA TR WFAR ?
(A) 3T3TR
(B) W

(C) =7,
(D) T

T HHHE ?
(A) e,

(B) |

(C) wefR

(D) T

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



33.

37

If BARLEY is written as CBTMGZ,
SOUND will be written as

(A) URWOF
(B) TPWOF
(C) UPWPF
(D) Mone of the above

Complete the series.

BMK DLM FKO HJQ ?
(A) JHS

(B) JIS

(C) JGK

(D) JIR

=5
. ]

If '+ means ‘*’ means -, '+’
means +' and = means ‘x’, then

16+ 8x6-2+12="7

(A) 23 (B) 24

(C) 17 (D) 22

If17 x 64 = 4716, 28 x 34 = 4823 then
T6xB4="7

(A) 6487
(B) 8764
(C) 4678
(D) 4768

“Find the missing term.

25, 36, 49, 65, 81, ?
(A) 97
(B) 100
(C) 105
(D) 121

=10-

38.

39,

40.

ACV-13/TECHPRT/1T/01

Which of the diagram represents the
statement-some musicians are
teachers, some teachers are players but
no musician is a player ?

(A)

(B)

)

00O

(C)

D) | £—

13:93::17: 72
{A) 45
(C) 31

(B) 15
(D) 51

Which digit will appear on the face
opposite to the face with number 4 ?

2 5]

(A) 1
(C) 3

(B) 2
(D) 4
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34.

35.

36.

37.

afs BARLEY %I CBTMGZ ferar=iman 2,

A SOUND =l T = |
(A) URWOF
(B) TPWOF
(C) UPWPF

(D) STE4FIH & FHIg 7
e 1 qof Fife |

BMK DLM FKO HJQ ?
(A) JHS
(B) JIS
(C) JGK
(D) JIR

Al wanfR s, xR s
HAd e v A A g
16+ 8x6-2+12=7

(A) 23 (B) 24

(C) 17 (D) 22

AfE 17 x 64 = 4716, 28 x 34 = 4823 A
TBxB4="7

(A) 6487

(B) 8764

(C) 4678

(D) 4768

T U8 T TR

25, 36, 49, 65, 81, ?
(A) 97

(B) 100

(C) 105

(D) 121

38.

39.

ACV-13/TECHPRT/1T/01

HA-G1 @ T8 FYA T 2 F 5w
wrftert e €, o e faend €, otf
w13 Gty Raendi 7ei 2 ?

(D)
00

(B)

(C)

o | L=

o e il B b
(A) 45
(C) 31

(B) 15
(D) 51

HEAT 4 971 4@ = favlla 7@ w F9-a
FHHEm 7

2 6
1 2 5 2
(A) 1 (B) 2
©) 3 (D) 4
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42.

43.

44,

45.
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iii) Arithmetical and Numerical Ability

A sum of money is to be distributed
among A, B, C and D in the proportion
of 5:2:4:3.IfC gets Rs. 2,000 more
than D, what is B's share ?

(A) Bs. 2,000
(B) Rs. 4,000
(C) Rs. 6,000
(D) Rs. 8,000

A varies directly as B=. IfB=2, A =8,
Find AifB=5.

(A) 10
(B) 25
(C) 50
(D) 100

5 % (626)%25 =72
(A) 5
(B) 25

@
(D) 125

Which number can be written in form of
n(n + 1) (n + 2), where n is a natural
number 7

(A) 8

(B) 16
(C) 24
(D) 32

Which is not a prime number ?
(A) 1071
(B) 103
(C) 137
(D) 141

46.

47,

48,

49,

50.

“f2-
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Value of x forwhichx, x + 1, x +2 are all
prime numbers

(A) O
(C) 2

(B) 1
(D) 3

HCF of two numbers is 10 and their LCM
is 45. Then the product of the numbers is

(A) 25
(B) 75
(C) 45
(D) Cannot be determined

Largest four digit number exactly divisible
by9,11,12and 13 is

(A) 5148 (B) 6264

(C) 7524 (D) 9698

The sum of the numerator and
denominator of a fractionis 14. lfone is
added to the numerator and 3 is
subtracted from denominator, it
becomes 1. The fraction is

B ®)

@|; o

1
© 3 (D)
The average of a group of 8 numbers is
68. If one of the numbers is replaced by a
new number, the average becomes 72.

What is the difference between the new
number and the old number 7

(A) 4
(B) 8
(C) 16
(D) 36
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42,

43.

44,
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i) STERTTTOTHTS U= TEaTe S gl

A, B CERDH A5:2:443
% 3T # A1 Sl 8 | 3 CH
%, 2,000 D & siftrs fed £, 91 B =1 9
T BT

2 000

. 4,000
. 6,000

(D) %, 8,000

()
(B) %

(C) #

A, B2 ® srppua 8| 9B =2, A=8
fl AST I, AR B =53 |

(A) 10

(B) 25

(C) 50

(D) 100

5 % [625)%45 =7
(A) 5
(B)

(C)

(D) 125

- Wmn{n +1) (n+2) VR H TerE]
1 1 & 47 n F Wk AE gEane 2
(A) 8

(B) 16

(C) 24

() 32

Fi-H o AT HET T R 7
(A 101
103
137

A)

(B)
l[ 2}
(D) 141

-13-

46.

47,

48,

49.

50,

X 75T FTH BISRIX, X+1,X+2
s s HE £ |

(A) O (B) 1

() 2 (D) 3

21 T ] HEwH HEddes 10§ 3
ETETH HIIET 45 B, T e
TR &

(A) 25

(B) 75

(C) 45

(D) FEifE 3 % o=d
9, 11, 128713  qoia; faraTfora sRaTe

T 37eh1 &1 990 T2 T 8
(A) 5148 (B) 6264
(C) 7524 (D) 9698
U firs o 3991 TR BU A AT 14 7 | Al
977 U i) WY S EH A 3wl
Gl R B i S
) g
(A) 33 (B) 5
(C) 115 (D) g

9 et & ek e 1 SiEa 68 8 | AR
T H0E &) U TS O § wfaeenfid w
foe s 2, & ofwa T2 R SR | S
e ST T Te o e T SR ?
(A) 4
(B) 8
(C) 16
(D) 36
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51.

o

53.

54.

55.

56.

If (Jﬁ)b x(9)* =87 3y, then nequals

(A) 0 (B) 3
(C) 5 (D) 7
0.8 =7
8 8
(A) 0 (B) 5
88 8
€ 5% ©) 35
J1.21-Jo1 =7
(A) 100 (B) 10
(C) 1 (D) 11

What will be B0% of a number whose
200% is 90 7

(A) 180
(B) 72
(C) 36
(D) 28

if the radius of a circle is increased by
1%, the percent increase in surface
area is

(A) 1.01%

(B) 2.01%

(C) 2.2%

(D) 2.44%

Cost price of 15 apples is equal to

selling price of 20 apples. The loss
percent is

(A) 12.5%
(C) 20%

(B) 25%
(D) 15%

57.

58.

59.

60.

ACV-13/TECHPRT/1T/01

A sum was invested at a certain rate of
simple interest for two years. Had it been
put at 3% higher, it would have fetched
Rs. 300 more. The principal amount is

(A) Rs. 1,500
(B) Rs. 2,500
(C) Rs. 4,000
(D) Rs. 5,000

A sum of Rs. 12,000 deposited at
compound interest becomes double
after 5 years. After 20 years it will
become

(A) Rs. 1,24,000
(B) Rs.1,92,000
(C) Rs. 96,000
(D) Rs. 24,000

If the base of a right angled triangle is
4 m and its hypotenuse is 5 m, its area
will be

(A) 4 m?
(B) 5 m?
(C) 6m?
(D) 9 m?

If the perimeter of a rectangle is 200 m
and its breadth is 40 m, then its area in
s5g. metre will be

(A) 1600
(B) 2400
(C) 2800
(D) 3600
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52.

23.

54.

35,

56.

It (JE}%[Q)E =g x&ff_i.?ﬁnwg

(A) O (B) 3
(C) 5 (D) 7
0.8 =7
8 8
® 15 ®) o
88 8
© o5 0) o5
J121 -Jo1 =7
(A) 100 (B) 10

(C) 1 (D) 11

39 BT 1 80% F w0 TrE 200%,
902 7

(A) 180

(B) 72

(C) 36

(D) 28

afg weh g oh e 1% 8§ aer el 2,

ity S 1wt ae 2

(A) 1.01%

(B) 2.01%

(C) 2.2%

(D) 2.44%

15991 F1 4 ed 20061 & REFa g
e R | BT wfcra 2

(A) 12.5% (B) 25%

(C) 20% (D) 15%
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58.

59.

60.
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Ty 31 991 & o ww e
e as W A fm o gl sd s
ST & T STET S 91 300 & S
fireal 8, 1 qeree 2

(A) %. 1,500
(B) %. 2,500
(C) %. 4,000
(D) %. 5,000

12,000 %. 1 U TR 5 99 @
=Ts WS B A8 | 20 991 &1 98
Brsme |

(A) %. 1,24,000
(B) %. 1,92,000
(C) %. 96,000
(D) %. 24,000

Ife we TR Bregs = smumr 4 1, @ 3k
Fuf 5, B, s S B

(A) 4H1.2
(B) 5Ht.2
(C) 6.2
(D) 9.2

A wak a1 i ufmm 200 4, 3w el
4071, 2, 91 38T Same 91 |, H B

(A) 1600
(B) 2400
(C) 2800
(D) 3600
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iv) Test of Language : Hindi
wraT e ; 2=

(61 31 62) - Tk TR =1 E W o ferea fRa
e v 8w W A gR g EeRd & | AR, A
Y G EE | AR wE 3 AR, T (0)T

61. (A) T HREH T F =18
(B) T8 T8 =i cLah!
(C) TSR Ta R |

(D) #1337

(A) dfem sht

(B) 78

(C) A== TF9 & |
(D) v AR

62.

(63 —65) : e T o ol IR T A R |

63. WHF T FEGRAT_ BT
(A) T=TRA
(B) wiTivE
(C) uft=icTa
(D) =HTiT

IS AR RS |
(A) ==

(B) A=Y

(C) FH@T

(D) A

64.

16

65. SEmaafr fafd i adfidad
(A) =HR
(B) 3:Eh
(C) fa=fem
(D) @l

(66 — 68) : HETat! %1 @l 37l 7 |

66. B % o Ud
(A) ST ST
(B) SeHET HTH AT
(C) HETTH
(D) TSI HAT
67. I 9L I 5]
(A) BLHHA ST
(B) W & 31 31
(C) TR ST
(D) =1 fe@m

i o

(A) SIS FET
(B) BT =AT

(C) TR Em
(D) FETs
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g W
:

69.

SR H1 AT T S 76l I e €
(A) =g

(70 3 71) : g = w1 waw =i |

70.

it

(A) e
(B) ETfeH
(C) wmlifera
(D) Fs=Ew

(A) TR
(B) ¥
(C) =wrETa]
(D) et

(72 30 73) : TE ST 1 =97 i |

i

73.

(A) BHIW &1 H 3T ST 2
(B) BT 2T H ST 1T £ |
(C) TOR 231 | 33z =il 8 |
(D) EHR TN H IEF AIRATE |

(A) TH 3 =1 T&E1 7 A |
(B) T 3 9 T A A |
(C) T8 3 & UL T Ha F |
(D) @+ft e 8 |
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(74 311 75) : TATETE 3165 5+ |

74, AT
(A) e (B) Frgem
(C) 3r=ren (D) F=A
75. A
(A) 34 (B) &
(C) T (D) S

(76 TR 77) : Fwliarede =g 4|

76. THI
(A) TR (B) meff
(C) Fraw (D) For

77. WY
(A) TeIH (B) fomer
(C) Fm1e (D) 3¢

78. Tomwr =17
(A) T + . (B) To: + =1
(C)fa:++FR (D) far+=w

79. T0HH e T |
(A) e (B) TR

(C) it (D) 7§
B0. HIA~TIIe8 TgITA© 7

(A) &1 (B) =T

(C) TOEw (D) Tui

I1 T.

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



ACV-13/TECHPRT/1T/01

v) Test of Language : English
ey ufieqon : Stirt

(81 and 82) : Which word is most similar in
meaning to the given word 7

81. Eager
(A) Smart (B) Devoted
(C) Enthusiastic (D) Curious
82. Appraise
(A) Praise (B) Estimate
(C) Justify (D) Investigate

(83 and 84) : Which word is most opposite in
meaning to the given word 7

83. Incorporate
(A} Amalgamate (B) Enjoin
(C) Exclude (D) Dissect
84. Inhibit
(A) Exclude (B) Activate
(C) Simulate (D} Expand

(85 — 87) : Select the correct meaning of the
given idiom/phrase.

85. By the skin of one's teeth
(A) Justintime (B) Hardly
(C) Barely (D) Speedily

To play fast and loose
(A) Cheat during play

(B) To win sometimes and to lose at
others

(C) To play tricks
(D) To play with someone’s feelings

To break the ice

(A) Make friends

(B) To start a conversation
(C) To dissolve old enmity
(D) To win

87.

(88 — 90) : Select the word which is wrongly
spelt.

B8. (A) Onerous
(B) Tentetive
(C) Deleterious

(D) Parochial

89. (A) Ludicurous
(B) Excruciate
(C) Retribution

(D) Indolent

(A) Accentuated
(B) Stringent

(C) Connosseur
(D) Prerogative

(91 and 92) : Fill in the blanks.

91. Gandhiji had the path of
non-violence.
(A) Suggested (B) Accepted
(C) Adopied (D) Proposed

92. Allthe characters in this story are

(A) Imaginative (B) Unreal
(C) Unreliable (D) Fictitious

(93 and94) : A part of a sentence is underlined.
Select the option which, when substituted for
the underlined part will improve it. If no
improvement is possible, select (D).

93. The fact finding team which had been at
the area found the situation very grave.

(A) Which had been for
(B) Which led to
(C) That had beento

(D) No improvement
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94. Whatdid happen there earlier does not

interest me.

(A) What had happen
(B) What happened
(C) What would happen
(D) No improvement

(95 —100) : Read the passage and answer the
questions that follow :

Reports of farmers dying from pesticide
exposure in Maharashtra's cotton belt in
Yavatmal make it evident that the government’s
efforts to regulate toxic chemicals used in
agriculture have miserably failed. It is natural
for cotton growers under pressure to protect
their investments to rely on greater velumes of
insecticides in the face of severe pest attacks.
It appears many of them have suffered high
. levels of exposure to the poisons, leading to
their death. The factthat they had to rely mainly
on the advice of unscrupulous agents and
commercial outlets for pesticides, rather than
on agricultural extension officers, shows gross
irresponsibility on the part of the government.
But the problem runs deeper. The system of
regulation of insecticides in India is obsolete,
and even the feeble efforts at reform initiated
by the UPA government have fallen by the
wayside. A new Pesticides Management Bill
introduced in 2008 was studied by the
Parliamentary Standing Committee, but it is still
pending. At the same time, there is worrying
evidence that a large quantum of pesticides
sold to farmers today is spurious, and such
fakes are enjoying a higher growth rate than
the genuine products. Clearly, there is a need
for a high-level inquiry into the nature of
pesticides used across the country, and the
failure of the regulatory system. This should be
similar to the 2003 Joint Parliamentary
Committee that looked into harmful chemical
residues in beverages and recommended the
sefting of tolerance limits.

o

98.

88.
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Which word can replace "miserably” in
the above passage 7

(A) Admirably (B) Poorly

(C) Deplorably (D) Astonishingly

Which farmers have suffered very high
level of exposures to pesticides ?

(A) Sugarcane farmers

(B} Rice growers

(C) Cotton growers

(D) Not clear from the passage

The antonym of spurious would be
(A) Valuable (B) Real
(C) Genuine (D) Stable

Whose responsibility it actually was 1o
provide correct advice on pesticides to
farmers ?

(A) The pesticide manufacturers
(B) Agriculture Extension Officers
(C) The pesticide distributors

(D) Not clear from the passage

What according to the above passage,
is the deeper problem related to use of
pesticides in India ?

(A) That farms use too much pesticide

(B) That farmers don't take adequate
protective measures

(C) That regulation of pesticides is
obsolete and inadequate

(D) Not clear from the passage

100. The noun related to “obsolete” will be

-19-
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(A) Obsolete

(B) Obsolescence
(C) Obsolent

(D) All of the above
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1083,

104.

SECTION-B
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Post Specific Subject-Related Questions

Which level of cognitive domain would
the following question relate fo ?

“Would frequent washing of hands result
in reduction in incidence of diarrhoeal
diseases 7"

(A) Comprehending
(B) Applying

(C) Analyzing

(D) Evaluating

Iin the affective demain, abstract
knowledge is built at the level of

(A) Valuing

(B) Organizing

(C) Characterizing
(D) None of the above

As perthe NCF 2005, the role of teacher
is thatof a

(A) Leader

(B) Evaluator

(C) Facilitator

(D) All of the above

According to NCF 2005 recommendations,
the percentage of short answer type
guestions should be

(A) 5-10%

(B) 25—40%

(C) 70— 80%

(D) All of the above

Latest Sarkari Jobs, Govt Exam Results,
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108,

107.

T0E.

Micreteaching was inventad by
(A) Lee Long

(B) Reod Hastings

(C) Steve Sampsorn

(D) Dwight Alien

1Q level which differentiates learning
disorders fromintellectual deficiency is

(A) 50
(B) 70
(C) 80
(Dy 100

Which activity. does not involve active
learning ?

(A) Lecture

(B) Group discussion

(C) Student debate

(DY Learming by teaching

In Erik Erkson's theory of Psychasocial
development, the stage of ‘Industry vs
Inferiority’ takes place during the years
(A) 4 -5 years

(B) 6—12 years

(C) 18—19years

(D) 2—4 years



101.

102.

103.

104.
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AT -F
W@ﬁq%%&wéﬁ%ﬁmm 105. g ewfiEs g AR
T e S S e :
S ST 7 Sl
P (C) & gryEs
ol (D) SATEE et
(C) fergermmr
(D) T 106. 378 R T =11 92 Wt <t gfigeman <l =t
T 376 AT

waTEt ST |, %+ T W HiE (A) 50
WWW%I (B) 70
(A) S (C) 80
(B) (D) 100
(C) FEm
(D) Fwisw & & g 7

107. T el d v geq o a2 7
NCF 2005 % igaw, frems &t ufie (A) =
o H B 2 (B) wHE ==
(A) ﬂmr (C) Frendiare-fam
(B) Heamheh (D) TTSH I 98+
(C) wfsrer
(D) SRf T+

108. e uftaey o wREmte S e
NCF 2005 #1 a¥qfoal & @R, @Y :;;311 T AR
IOICHS T9A1 1 Ulowe e =R | g
(A) 5 —10% 1) #=3
(B) 25— 40% By S12
(C) 70 — 80% (C) 18-19
(D) I iy (B) 24
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110.

111,

112

Abstract thinking generally begins in
(A) Sensorimotor stage

(B) Pre-operational stage

(C) Concrete operational stage

(D) Formal operational stage

Mala's mother is a responsive parent
who takes care to satisfy Mala's needs.
Mala is an infant. According to Erikson,
Mala is likely to

(A) Form a lifelong attitude of basic trust
toward the World

(B) Experience certain leaming
difficulties

(C) Have difficulty in forming attachment
to her brother

(D) Become a gifted child

A statistical measure that indicates the
extent to which changes in one factor
are accompanied by changes in another

(A) Standard deviation
(B) Correlation coefficient
(C) Quartile deviation

(D) Range

For a symmetrical distribution, two
standard deviations (2¢) covers
approximately % of items.

(A) 68
(B) 78
(C) 95
(D) 98

113.

114,

115.

116.

-22-
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An example of Vygotsky's zone of

proximal development would be

(A) Ateacher tells a gifted student how
1o take good class notes so that the
student can do even better

(B) Less competent children develop
with help from their more gifted
peers

(C) Such homework is given which the
student cannot complete on his own
but can do it with some help from
the teacher

(D) All of the above

Type of reinforcement which produces
the slowest rate of extinction is

(A) Continuous reinforcement

(B) Fixed ratio reinforcement

(C) Fixed interval reinforcement

(D) Variable ratio reinforcement

Gestalt theory postulates that elements
are grouped as per patterns. This is the
principle of

(A) Proximity

(B) Similarity

(C) Simplicity

(D) Closure

An advantage of lecture method is that

(A) Facilitates problem solving

(B) Has high receptivity among students

(C) Can impart large amount of factual
information within a short period

(D) All of the above



109,

110.

7 i 8

112.

it Pem amrE: | A ER e |
(A) FHisT Hae

(B) T HiFATTE STEE

(C) 3 TiFarTa AaE

(D) =i Gl stee

TTen <1 AT o feree stfingras & it

T i STEavEFE H g i % o

oy TEdt & | aren o g R | o &

FIHR, T HTER |

(A) Towa w smumes forvame =t sitead
gfezaio = i

(B) FS U SHTST 1 ATHE A

(C) 9 HTS & TTE S H whieATS

(D) 39 s=a 5=

U GifEerh! 7 A o dmr guta & sw
5 U I H SR o a1 g Fh
oft o B

(A) A= feraem
(B) Fasisy TuI=
(C) wgd= fauwm
(D) #wft

U WH A STTEeA |, &1 7T 9o (26 )
T % HE i HArESIed
AT |

(A) 68
(B) 78
(C) 95
(D) 98

113.

114,

115.

1186.
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AreTiieeehi = & 3 ferery fasm s 3ee

Ul

(A) T e Suga faemeff b eamr ? 6
= ATZH HE AT S arfeh g8 I
e W HF

(B) 319 Afea: 3ugd it i wgm@a |
THH W T (S B

(C) Ya e fEar s 2, 9 fermefi a1
79 T SR a1 W e Sl A
T, WA 6

(D) STt
FedieRtoT 1 YR S e o ot oif

IEFAFATE

(A) THat gedw

(B) Ffera srguma g
(C) TafTerm sioue gagiar
(D) =TI FEGHT

e e i arhraron & FF @l =i
WEY & ATIR THE # TG 910 | I8
_ =wmfummEl

(A) |

(B) THHEI

(C) it

(D) FEH

=meH e e
(A) T AT I G A0 8
(B) ferenfilai f =1 srfmmemmT a2

(C) Ueh Y e H qeateds Ya 1 H a2l
7] R AT &

(D) I wft
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Some of the demerits of the leciure
method can be overcome by

1. Prolonging duration of lecture

2. Presenting the topic in an OFQ&I'!EZEG
manner

3. Using audio-visual aids
4. Ensuring student discipline

(A) 1and2
(B) 2and 3
(C) 3and 4
(D) 2,3and 4

Which of the following is not a
characteristic of learning ?

(A) Learning is a life long process
(B} Learning is direcily observable

(C) Learning is retained through
practice

(D) None of the above

Grouping of physical objects into
classes based on their characteristics
is a feature of

(A) Learning by discrimination
(B) Learning of principles
(C) Concept learing

(D) Operant conditioning

120.

121.

122.

123.

-24-
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Where were Kindergarten Schools first
established 7

(A) USA

(B) UK

(C) Germany
(D) Denmark

A standardized testing method must
have the following qualities

(A) Evaluation and Usability

(B) Validity and Evaluation

(C) Comprehensiveness, Evaluation
and Practicality

(D) Validity, Reliability and Practicality

Student's writing style and powers of
expression are best tested by

(A) Verbal questions and answers in
the classroom

(B) Standardized tests employing
objective type questions

(C) Tests requiring descriptive answers

(D) All of the above

Dalton systam of education was
developed by

(A) Maria Montessori
(B) John Dewey

(C) Helen Parkhurst
(D) T. Remont
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e T FgseEm
TR PR s € |

1. SITEH i 3T T8

2. Torwa =t wrfd oli% & weqa %
3. 999379 IYEH W Fh

4, Termefi srgema= gifeaa ek
(A) 132

(B) 23713

(C) 33TT4

(D) 2,334

fraffaa o 8 =9 -1 987 =1 v T
TER 7

(A) W3 U STTsfia gihan 3

(B) 92 Wegerd: fommaia @

(C) U2 1 STH FRTGiET fofam < ke
2

(D) S & I3 7

eI 7 Sifereh TEGRAT T WRER I
T o SR 9T #
e ST e |

(A) ¥IE E TS
(B) i =wraea
(C) Tohe9q] 934

(D) =rerdl FgEE

120.

121.

122,

123.
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(A) eierd 31T waT=raT

(B) S oI qeiehA
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(D) Sern, Fargamefarar i =Eeeta
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1286.

127.

Which is not true of heuristic teaching

method 7

(A) Learning by self-experience

(B) Useful at primary level of education

(C) Involves problem solving

(D) Students are active throughout
learning process

Heuristic method of teaching was
developed by

(A) Danker

(B) Armstrong

(C) Herbert Spencer

(D) Monroe

Which is true about the inductive method
of teaching grammar ?

(A) Allows even poorly trained teachers
to teach grammar by using lectures

(B} Is learner centric

(C) Allows teaching of finer points of
grammar

(D) All of the above

Giving homework is effective in teaching

mathematics. Which is the most

important reason ?

(A) To keep students busy at home

(B) Because time for practicing
mathematics problems is not
sufficient during school time

(C) To promote self study among
students

(D) To increase parental involvement

128.

129.

130.

131.

-26-
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Multipie Intelligence Theory was
given by

(A) Kohler
(B) Gardner
(C) Piaget
(D) Paviov

Correlation of 1Q scores with academic
performance is

(A) Low
(B) Medium
(C) High
(D) Perfect

Which is not a knowledge type proposed
by Piaget ?

(A) Physical

(B) Logical mathematical
(C) Secial

(D) Linguistic

B.F. Skinner is associated with
(A) Gestalt theory

(B} Classical conditioning

(C) Operant conditioning

(D) None of the above
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gt o oty 3 R - e e R ?
(A) TS ST HET

(B) Torem = mfie wx W swh

(C) T GETET NI T 8
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Tererfia <Rl 8 |
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(B) S
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(D) #U
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fore e
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(B) feremefi w5 2
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123,

130.

131.
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(D) Yl

ST ST o g Wikwen e Wi

Aagau e
(A) =
(B) HEH
(C) 3=

(D) fareger el

= TS g e e I o SRR
AR

(A) o

(B) ek Tt
(C) amTiER
(D) wHfag

flesEF_ AFRE
(A) Tre2Tee g

(B) Av9 STTFEH

(C) =eiaT STFFE

(D) Swiaa o & FrE 7



E‘ Ly E

132.

133.

134.

135,

According to the social constructivist
approach, role of an instructor is that of

(A) Evaluator

(B) Facilitator

(C) Lecturer

(D) None of the above

If the chronological age of the child is
80 months and his mental age is 66, his
IQ is

(A) 90

(B) 100

(C) 110

(D) Cannot be determined

The process of changing the existing
schemas to include new information is
called

(A) Calibration
(B) Conditioning
(C) Adaptation

(D) Accommodation

Disability which affects a child's hand | 139,

writing ability and fine molor skills
(A) Dyscalculia

(B) Dysgraphia

(C) Dystonia

(D) Dysmorphia

=28~

136.

137.

138.
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Which term best describes a child's
physical growth ?

(A} Qualitative

(B) Conceptual

(C) Quantitative

(D) Unorganized

Dyslexia is characterised by difficulty in
(A) Text comprehension

(B) Number processing

(C) Abstract concepts

(D) Writing

Which is the best way a primary school
teacher can use to motivate her students ?

(A) Set rigid goals and milestones for
the entire class

(B) Reward and praise the most gifted
students

(C) Help children to set their own goals
and help them in working towards
the same

(D) Encourage competition for marks
among students

Which type of assessment is used for
identifying learning deficiencies 7

(A) Formative

(B) Unstructured

(C) Diagnostic

(D} Summative
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Which of the following will not be a

factor for motivation ?

(A) Awarding prizes for
performance

(B) Providing
achievemeants

good

incentives for

(C) Praise on achieving or exceeding
objectives

(D) Prescribing high repetition practice
of a topic

Pintner Paterson scale is a

(A) Verbal test 145.

(B) Non-verbal test
(C) Performance test
(D) Culture specific test

In psychometric testing, existence of 'g
factor’ was proposed by

(A) Binet

(B) Babbage
(C) Thorndike
(D) Spearman

In order to modify the undesirable
behaviour of a student the most effective
method is

(A) To inflict punishment
(B) Toignore it
(C) To ask the parents to deal with it

(D) To find out the reasons and attempt
to provide remedies

-30-
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144. What is the main objective of school

discipline ?

(A) To provide a safe environment for
students

(B) To identify delinquents so that they
can be remedied

(C) To provide conducive environment
for teaching

(D) To ensure safety of teachers

Which is the biggest advantage of giving
regular homework to students ?

(A) Students keep busy and away from
mischief

(B) Students develop the habit of self
study

(C) Parents are made aware of what the
child is studying

(D) Workload of teachers is reduced

The main purpose of establishing
Navodaya Schools is

(A) Promoting universal literacy

(B) Providing good education in rural
areas

(C) Reduce dropout rates among rurai
youth

(D) Increase number of schools in rural
areas
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As per Howard Gardner's theory of
multiple intelligences, which form of
intelligence is not valued in schools ?

(A) Spatial

(B) Linguistic

(C) Logical

(D) Mone of the above

In CCE, what percent is formative
assessment ?

(A) 20%
(B 40%
(C) 50%
(D) 75%

Which of the following is not an
appropriate tool for formative
assessment ?

(A) Assignment
(B) Oral questions
(C) Quiz

(D) Term test

‘Operation Blackboard' is related to

(A) Providing blackboards in rural
schools

(B) Providing universal enroiment

(C) Providing basic facilities in all
schools

(D) Preventing dropout in schools

151.

152.

153

154.
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Which is not among Gardner's list of
seven intelligences ?

(A) Spatial

(B) Naturalist
(C) Physical

(D) Intrapersenal

Which is not a Thurstone P.M.A. ?
(A) Number

(B) Emotion

(C) Memory

(D) Reasoning

A child demands incentive for doing
certain household work. Which of
Kohlberg's stages of morality is this
related to 7
(A) Stage 1
(B) Stage 2
(C) Stage 3
(D) Stage 5

A child cannot distinguish between
‘ANT' and ‘TAN', STARED and
STARTED. What could be the condition ?

(A) Dysmorphia
(B) Dyslexia

(C) Dyscalculia
(D) Dysgraphia
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Which is not a quality of a good lecture ?

(A) Uses illustrations and examples

(B) Builds on existing knowiedge

(C) Explains multiple themes in a single
lecture

(D) Should not be too long

Who wrote “The only learning which
significantly influences behaviour (and
education) is self discovered” 7

(A) Carl Rogers

(B) Maria Montessori

(C) John Dewey

(D) Lev Vygotsky

Which is not an example of scaffolding ?

(A) Giving assignments which students
cannot de on their own but can do
with somea help

(B) Administering standardized I1Q tests

(C) Otherwise gifted students being
taught about the correct way of
taking notes

(D) All of the above

Which is likely to be the least effective

method of teaching scientific concepts ?

(A) Giving lecture to a large classroom

(B) Giving demonstration of scientific
principles to a small group

(C) Laboratory experiments performed
by students

(D) Science projects

Vacancies and updates on one click
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The best way to enhance leaming in
lower classes is to

(A) Offer incentives for each step of
leamning

(B) Drill in mathematics

(C) Praising the gifted students

(D) Connecting the content to the life of
the students

Proximodistal development means
(A) Fromtop to bottom

(B) From bottom to top

(C) From inward to outward

(D) From outward to inward

Which theory of learning is completely
dependent on ‘observable behaviour' ?

(A) Behaviourist
(B) Cognitivist

(C) Developmental
(D) Constructivist

Effect of heredity on a particular

behaviour is indicated when

(A) Fraternal twins express the
behaviour more similarly than
identical twins

(B) ldentical twins express the
behaviour more similarly than
fraternal twins

(C) There is little similarity in expression
of behaviour both in identical and
fraternal twins

(D) Both fraternal and identical twins
express the behaviour equally
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‘Child Centered Education' can be
justified on the basis of

(A} Children know what is best for them

(B) Children have a right to decide
about education

(C) Children have individual differences
(D) All children are equal

Assigning different tasks to different
students can be justified on the basis of

(A) Students like variety
(B) It prevents copying of assignment

(C) There are individual differences
among students

(B) It cannot be justified at all

As pear Kohlberg's theory, moral
reasoning depends on

(A) Context

(B) External Stimuli

(C) Training

(D) Stage of development

In Piaget's theory, object permanence
is developed towards the end of
stage.

(A) Sensorimotor

(B) Preoperational

(C) Concrete operational
(D) Formal operational

Vacancies and updates on one click
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You are teaching in a class where most

students are weak in arithmetic.

However, three students appear to be

gifted. What should be your teaching

style 7

(A) Follow the standard pace of
teaching for all students

(B) Take frequenttests so that the weak
students are forced to study hard

(C) Keep the pace slow bui provide
extra guidance to the bright students

(D) Ask the school administration to
shift the bright students to a different
section

Three students in a class always sit at
the back and disturb the class by talking
continuously. What will you do to remedy
the situation ?

(A) Ask them to sit on front benches

(B) Ask them to leave before the class
staris

(C) Request the principal to remove
them from school

(D) lgnore them

The learner as ‘Tabula Basa' is a
presumption in

(A) Cognitivism

(B) Gestalttheory
(C) Constructivism
(D) Behaviourism
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The best way to teach children about
the process of filtration would be

(A) To give a lecture explaining the
process

(B) To have a class discussion

(C) To draw detailed diagram on the
board

(D) To give a demonstration of the
process

The best way to make students
memoerize multiplication tables would be

(A) Teacher writes tables on board and
asks students to copy

(B) Give homework in which students
have to write tables

(C) Drill and Practice

(D) Give students a deadline by which
they should memorize tables

Which is not true of CCE system 7

(A) Encourages spirit of competition
among students

(B) ldentifies learning progress on small
portion of content

(C) Provides remedial feedback

(D) Recognizes and encourages
non-academic abilities
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175.

176.
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Vygotsky's social development theory
laid the foundations for

(A) Behaviourism
(B) Humanism
(C) Constructivism

(D) Operant Conditioning Theory

‘Tabula Rasa' concept was first
propounded by

(A) Piaget

(B) John Locke
(C) Voltaire
(D) Dewey

Learning appropriate behaviour as a
student of a primary school is

(A) Primary Socialization

(B) Secondary Socialization
(C) Re-socialization

(D) Anticipatory Socialization

Which of the following is not a principle
of child development 7

(A) General to specific
(B) Continuity

(C) Sequentiality

(D) Reversibility
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That knowledge is 'Given and absolute’
is not accepted by

(A) Behaviourism
(B) Cognitivism
(C) Constructivism

(D) All of the above

Gifted students will generally be
(A) Very hard working

(B) Extroverts

(C) Convergent thinkers

(D) Divergent thinkers

In Bloom's hierarey, skills are
associated with

(A) Cognitive domain
(B) Psychomotor domain
(C) Affective domain

(D) All'of the above

Group project work helps in developing
(A) Strong intra-group competition
(B) Individual sense of achievement

(C) Collaboration and problem solving
skills

(D) All of the above

181.
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183.

184.
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Marble monuments such as Taj Mahal
are getting damaged due to the polluting
gas

(A) Carbon dioxide

(B) Sulfur dioxide

(C) Carbon monoxide

(D) Ozone

Which of the following is not powered
by solar energy ?

(A) Monsoons

(B) Ocean currents

(C) Photosynthesis

(D) Ocean tides

Among the language skills, the most
difficult is

(A) Listening

(B) Speaking

(C) Reading

(D) Writing

Which is not a characteristic of students
with learning difficulties ?

(A) Short attention span

(B) Normal learning motivation

(C) Difficulty in understanding abstract
concepis

(D) Weak in problem solving
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On furtheranalysis, it is found that a test
does not adequately measure those
attributes which it was designed for the
test has poor

(A) Reliability
(B) Predictability
(C) Validity

(D) Reproduction

Laboratory experiment in science will
be classified as

(A) Audio aid

(B) Visual aid

(C) Activity aid

(D) Audio-visual aid

Which of the following is not an

advantage of project based instruction ?

(A) Increases student motivation by
allowing choice

(B) Improves rote leaming

(C) Connects school based instruction
to real life

(D) All of the above

‘Testing the legitimacy of a conclusion’
will fall in which category of Bloom's
taxonomy ?

(A) Knowledge

(B) Analysis

(C) Creating

(D) Evaluation
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As per Kolb's learning styles, the most
cognitive approach is found in

(A) Accommodators
(B) Divergers

(C) Assimilators
(D) Convergers

In Kolb's learning styles, which one
reflects abstract conceptualization/
active experimenter ?

(A) Convergers

(B) Divergers

(C) Assimilators
(D) Accommodators

NCF 2005 is largely based on
(A) Behaviourism

(B) Cognitivism

(C) Humanism

(D) Constructivism

Which was not a guiding principle for
NCF 2005 ?

(A) Connecting knowledge to life
outside school

(B) Shifting away from rote learning

(C) Increasing arithmetic competency
among students

(D) Flexible exam system
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A gun recoils upon firing. This is as per | 197,

the principle of conservation of
(A) Speed

(B) Momentum

(C) Force

(D) Energy

Most important reason for having games | 198.

in schools
(A) Makes students strong
(B) Keeps students busy

(C) Increasing cooperation and
physical coordination in students

(D) Because students demand sports

The term 'Least restrictive environment’
refers to education of

(A) Students laking a career in physical
education

(B) Gifted children

(C) Physically or mentally challenged
children

(D) Very young child

Recreational reading should be

(A) Discouraged as it takes away foo
much time

(B) Allowed only in the library
(C) Should be done only at home

(D) Is helpful and should be an integral
part of language curriculum

=il
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200.
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Metamorphosis is not seen in
(A) Butterfly

(B) Mosqguito

(C) Silk worm

(D) Fishes

All are computer operating systems
except

(A) Microsoft office
(B) Linux

(C) Windows 10
(D) iI0S

‘Exploration’ is most important during
stage.

(A) Early childhood
(B) Preschool

(C) Infancy

(D) Adolescence

Which is not one of the ways to reduce
exam anxiety among students 7

(A) Avoid basing most of the grades on
one or two grades

(B) Emphasize on written tests
(C) Avoid unnecessary time pressure

(D) Provide clarity regarding syllabus
for exam
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Irfieam & o nesagot emew

This booklel coitaing 48 pages.

Please check all the pages ol the Booklot
carafully. In case of any defesl, please ask the
Invigilator lor replacement. of the Booklet

Directions : Each guestion or incompleta
statement is followed by four alternative
suggested answers or completions. In each
tase, you arg required lo select the ene that
correctly answers the guestion or completes
the stalement and blacken (@) appropriate
gircle-A, B, Coor D by Blue / Black Ball-Peint Pen
agams! the question concerned in the Answer-
Sheet. (For V.H. candidates corresponding
circle will ba blackened by the scribe)

Mark vour answer by shading the appropriate
circle against each guestion, The circle
should be shaded completely without leaving
any space. The correct method of shading
Is given below,

TWiong Mestod || ity Malsod || Wicny Maged [Feameet Motod

logooicecolomooloeac

The Candidate must mark hisfher respeonse
after carelul consideration

15. Thara is only ong cormec! answer 1o each
auestion, You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one guestion, the answer will be freated as
wrong, I you wish o cancel any answer, you
should completely ermse thal black mark in the
gircle in the Answer-Sheel, and then blacken the
circle of revised response.

A machine will read the coded information in the
OMRB Answer-Sheet.. In case the jnformation is
Incomplete/different from the information given
in the application form, the candidature of such
candidata will be treated as cancelled.

Use thie space for rough work given in the Question
Booklet onty aridl nat an the Answer-Sheel.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer-Sheet only.
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Go through instructions given in Page No. 1 (Facing Page)
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